802 .
L ARIVE « v ME 5 2008588 ~]
% E2008.8
BRI R (RIL R - v FRIER) BHAZy bRIVM (Fv b 2fEET)
WTE /4 5/16 3/s /2 5/s /4 /s /2 °/s /4
BE (o M6 M8 M0 | MI2 | M6 | M20 | M22 MI2 | M6 | M20
20 17 22 43 65 313 426
25 22 30 48 70 330 443
32 35 52 75 361 452
38 57 83 80 478
40 91 85 517
45 78 87 ) 538 1,000
50 87 91 126 100 605 1,035
55 122 96 135 CHLAE < 1/ f1d)
60 100 143 296
65 109 152 270
70 117 161 283
75 174 309
80 183 309 292
90 204 322 435
> b 12 16 22 26 44 84 114
R 12 16 20 24 36 57 90
ATy — 28 52 70 143
ATY 12 16 22 30 44 61
Ty vy—
(A >FHALZXDRIVIF v MIFIERBYICEYET) (WAL - F /i)
88 2% . . 643% | NIRH
Z2FLAKRIVE < Fy ME RILRF v b
% 7E2008.8 [#hEfM 20084E8H ~] HE2008.8 | [gheffi 2008488 ~]
SUS RJL b (KJU b - F v hBIfER) (BRI Ty bty M)
[2ES /s 5/16 3/3 /s 5/8 3/4 /s ER R K- EE A T
£ X (mm M6 M8 M10 Mi12 M16 M20 M22 (yb) | (H/AR) | (2w )| (H/%)
20 50 75 145 MI2X80| 155 |M20X120] 530
25 55 85 155 295 MI2X90| 165 |M20X130] 560
30 60 90 175 325 MI2X100] 175 |M20X140| 605
40 85 110 225 390 M20X150] 635
45 245 325 775 M16X100] 285 |M20X160| 740
50 295 350 660 | 1,500 M16X110] 305
55 345 375 705 | 1,615 M16X120] 325 |M22X140| 980
60 385 520 755 | 1,715 2,235 MI16X130] 345 [M22X150] 980
65 410 550 780 | 1,775 2,380 M16X140] 360 |M22X160| 980
70 585 815 | 1,450 2,490 M22X170] 985
75 880 | 1,525 2,620 M22X180| 1,615
80 1,595 2,700
90 2,310 (HT 2 1/ f1i)
v b 25 50 100 140 205 400 490
HT v v — 16 23 40 65 95 185 208
ATV 18 28 40 58 90 184 235
Ty Yy —
(A>FHAZXDRIVEFy MIFIERBEYICEYET) (WAL F /i)

219



